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EXERCISE 1.4
1. (a) (a + b)(3L + 7) (b} (x — 1)(5 + 2x) (c) (x = 5){(3x'= 7) |
(d) (x + y)(4m + 1) (e) (m = n)(2a — 1) (1) (2x — y)(4x — 3) 1
(g) (x + 3)x + 1) (h) (x* = x = 1)(m + 3) (=Y (7R 1) L
2. (a) (@ + b)(x + ) (b) (x + y)(m + 2) (c) (1 =1 + v
(d) (x + y)(m — n) (e) (a - b){x - 3) (1) (x = 1)cx = dx — d)
3. (a) (x + 1){x — 1)x — 2) (b)(m-n)(x—2y) (c) {y —2x)(8 - 5%) ° B
(d) (5s — 4)(3s — 1) (e) (a — 2b){a - 3c) (1) (3a + 4d)(b = 5¢) i
(g) (4y + 3)y + 2x) (h) (y = x)(x2 - y) 3
4, (a) (a? — 4)(b* — 7b + 13) (b) (r* = 8)(x® — 3x +2) (c)(a - D)=+ x + 1) §
EXEREISE 1.5 [
1. (a) (x + 3)(x + 4) (b) (x + 2)(x + 5) (c) (w — 3)(w - 5) (d) (x + 2)(x — 4) X
(e) (x + 5)(x = 2) (1) (m + 1)(m - 7) (@) (t = At -5 (h) (x + 4)(x — 6) “{
(i) (x + 5)(x = 3) (j) (t+ 3)t -4 - (k) (w 4+ 5)}(w - 9) (1) (r+ 5)(r +7) : =‘?§,
() (x + 4+ 7) (n) (w = 4)(w — 10) (0) (t + 4)t - 5) (p) (x + 1)(x — 8) l
()8 (=) (r)ly — 20y - 5) (s) (x +.10)(x — 3) (t)(s+3)s = 7) }}_.‘-;
T (u) (x + 9)x = 3 (=t~ 2 (w) (x + 8)(x - 8) (x) (W + 10)(w = 7) i
(y) (m + 7)(m + 9) (z) (n — 2)(n - 8) ki
\J 2. (a) —4,3 (b) 2,6, (c) not possible (d) =5, 10
] (e) —9, 4 (f) not possible (g) 4, 11 (h) =10, -2
(i) =1, =1 (j) -3, 6 (k) —6,6 (1) -4, —4
3. (a) (x + 3)(2x +.1) (b) (2x — 5)(x — 1) (c) 3w + 4)(w — 5) (d) 8y — )2y + 1)
(e) (ew — 3)(Bw + 1) (1) (5w + 2)(2w — 1) (g) not possible (h) (x = 1)2x — 1)
(i) (2w + 5)(w + 2) (j) @& + 3)t + 2) (k) not possible (1) (8w — 5)(w + 4)"
(m) not possible (n) (6x — 2)(2x + 1) (0) (4x — 3)(2x + 3) (p) (4t — 5)(t — 2)
4. (a) 2(x — 1)(2x — 3) (b) 3(3m + 5)(m + 2) (c) not possible (d) 8y + 7)(2y - 3)
(e) (By — 2)(4y — 3) (1) 2(2x. + 3)(5x + 4) (g) not possible: (h) not possible }9:!
(i) 2(2x + 3)(3x - 5) (i) (2t + 7)(3t - 4) id
H
EXERCISE 1.6 i
1. (a) (x — 4p (b) {y + 5 (c)(x-4<x+44 B
(d) (m + 6)° (e) (t 7(1 7) (1) (w—7) &
(g) (x = 10) (h) (s = 1)s + 1) (e ;
2. (a) (2x — 3)(2x + 3) (b) (6y ~ 7)(By + 7) (c) (10x — 9)(10x + 9)
(d) (1 = 4y)(1 + 4y) (e) (11y - 2)(11y + 2) . (1) (8m = 1)(Bm + 1)
3. (a) (4x — 7y)(4x + 7y) (b) (2m ~ 3n)? (c) (Bs — 5ty
(d) (9p + 8q)? (e) (3d — 5y)(3d + 5y) () (4x = 11y)?
(g) (52 + 3b)? (h) (7s — 4t)? (i) (10m = 11n)(10m + 11n)
4. (a) (7xty — 2z)(7x?y + 22) (b) (5mn + 4t)2 (c) (6x — 5y3)(6x® + 5y3)
" (d) (2x3y2 — 7)2 (e) (4m® — 5n)? (f) (Bs? + 5t)2
(g) (0.5x — 0.8y)(0.5x + 0.8y) (h) (1.2s + 2.50)? -
wBfa) (X oy = A% = Y.+ 4) i (b) (s + 3L = 3)(s + 3L +3)
(c) (@ + 2b — 12)(a + 2b + 12) “(d)(3x="2y = 5)(3x — 2y + 5)
6.(a) (7 — 2y + w)(7 + 2y — W) (b) (1 = x + y)(1 + x=Y)
(c)(x+y+a+bx+y-a-Db) (d) (3m + n — 2s + 5t)(3m +n+ 25 — 51
7.(a) (x + 3y — B)(x + 3y + 6) (b)(s—4—\t)s—4-&\t)
5 (c)(p+4qg=5)p+ag+5) (A)ixi=y = A XE T
( (e)(@a+b—-c+3)a+b+c— 23 (f)(m+n-s=tHm+n+s+1
N (g) (By — 3 ~ 2¢ — d)(5y — 3 + 2¢ + d)
8.(a) —(3y — 2 (b) 2ab(a — 1)? (c) 3(8 — x)(x + 3)
(d) =x(@2y + 1)2 (e) 2x(x_— 5y)(x + 5y) _ (1) 4st(@s + 5i)=
(g) —p(p — 3q)? (h) (4\/2 - 3a)(3a + 4\'2) B
9. (a) 161 (b) 267 (c) 1760 (d) 8760 it
10. (@) (x> — y)(x2 + 737) ( ) (3x¥r ~ 2y™) (c) (dnn) =+ 3ysmz 4
11. (a) 2601 (b) 2401 (d) 3364 bl

(c) 1024



